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public static void

moveD(Int §IFrom,int 170, Int numD){
1T (numD==0){

return;
}
moveD(1From,whatTheOther(iFrom, 1To),numD-1);

putD(IFrom, 1To);

moveD(whatTheOther(iFrom,1To),1To,numD-1);
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public class Combination {
public static void main(String[] args) {
int n = Integer.parselnt(args|[0]);
int k = Integer.parselnt(args[1]);
int[] ar = new int[k];
comb(n,0,1,ar);
+
public static void comb(int n,int loc,int start,int[] ar){
iIT(loc==ar.length){
System.out.print(""(");
for(int 1=0;i1<ar.length;i++){
System.out.print(ar[1]+",");
+

System.out.printin(’)');
return;

oo

for(int 1=start;i<=n;i++){
ar[loc]=1;
comb(n,loc+l,1+1l,ar);

}

+
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public static void main(String|[] args) {
= Integer.parselnt(args|[O0]);
= Integer.parselnt(args|[1]);
iInt[] ar = new Int[k];
comb(n,O,l,ar);j>
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for(int A=start;i<=r;i++){
(155 r[loc]=1;

= rﬁomb(n ,loctl,1+l,ar);
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int start,— """

int[] ar){.......

ar

System.out.print("("");

for(int i=0;i<ar.length;i++){
System.out.print(ar[i]+",™)

+

System.out.printin(*)");

if(loc==ar.length) {———

L

return;
} e
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public static void main(String[] args) {
n = Integer.parselnt(args|0]);
k = Integer.parselnt(args|[1]);
int[] ar = new int[k];
perm(n,0,ar);

public static void
perm(int n,int loc,iInt[] ar){
//

}




